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Number Sense Bk 2 Levels 2-

You need m a classmate Z a photocopy of the tree nursery copymaster

Activity
Hamish’s father owns a tree nursery. One Saturday,

Hamish’s job is to prune some of the trees.

The trees where Hamish is working are set out in rows
and are numbered. That part of the nursery is divided
into two sections, like this:

Hamish thinks of the hundreds board in his classroom and of an
arrow code that he used to work out the difference between numbers:
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Hamish decides to make up number stories while he works. For his
first number story, he is standing beside tree number 1 and needs to
go to number 23. He can only walk along or down the rows of trees,
not diagonally.
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To get to tree 23, T'll walk along to tree 3,
then down past tree 13 to tree 23.

So my number story to get from 1 to 23 is
1+1T+1+10+10=23.

1




1. Hamish has these trees on his job sheet:

Trees to prune:
First section: 23, 33, 42, 55, 77, and 80
Second section: 102, 119, 148, 176, and 195

Using only + 1, -1, + 10, and — 10, record the number
stories that Hamish would say as he goes from one
tree to the next tree on his list. (After he has finished
at 80, he has to start again at 102.)

b. Show each number story on a number line like this:
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Using the arrow code and also = =+ 100 and <=1 = - 100,

choose some numbers and make up your own problem for a

classmate to solve. For example: . \
Begin at number 56, | | —> —> > = [

What if I don’t always take the shortest route?
Iflgo1+10+10+10+1+1+1-1-10,

do I still get fo 237

Does Hamish still get to 23? Why does this happen?

Make up some longer paths for the tree numbers in
question 1 and see what happens.



